Version 1. Click here

Materials and skills required:-
No. 20 thread, small seed beads and a 3" diameter metal ring (bracelet). Knowledge of split

rings and using beads including the long beaded picot.

Star Catcher — © Jane Eborall 2006
Amended 2019

Version 2 Click here

Note - for those who prefer front side/back side tatting the text in italics and red indicates
where the worker needs to use the second half of the ds first.

Abbreviations

R

B

MB
Sh
LBP
DNRW

ring Ch chain - or p picot split ring
move bead in place of p + B add bead to picot before joining
move bead on core thread LBP  long beaded picot - see this link
shuttle one Sh2  shuttle two + join T & C tie and cut
long beaded picot MBBH move bead to back of hand

do not reverse work

Version 1- add 3"z yards plus 12 beads to Sh1 and 32 yards with 78 beads to Sh2.

R1:
SR2:
*SR3:
Ch:
SR4:
Ch:
SR5:
SR6:
R7:
SR8:

MBBH2-1B1-2Cl
3-3/3-3Cl

5-5/5B5CIRW

B2B2B2B2RW

MBBH 6 / B 4 B B B MB 4 Cl RW - see fig 1.
B2B2B2B2RW
5+B(SR3)5/B5B5Cl
3+B(SR2)3/3-3Cl

MBBH 2 + B (R1) 1 B 1 - 2 Cl - see fig. 2.
3-3/3+B(SR6)3Cl

Repeat from * twice & from * to SR6 once

R25:
SR26:
SR27:
Ch:
SR28:
Ch:
SR29:
SR30:

MBBH 2 + B (R19) B 1 + B (R1) 2 C
3-3/3+B(SR24) 3 Cl
5-5/5B5CIRW
B2B2B2B2RW

MBBH 6 /B 4 B B B MB 4 Cl RW
B2B2B2B2RW

5+ B(SR27)5/B5B5Cl

3+ B (SR26) 3/ 3 + B (SR2) 3CIT&C base R1

Fig. 1
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Version 2 - add 4 yards plus 12 beads to Sh1 & 5 yards with 25 beads to Sh2.

Ri1: MBBH2-1B1-2Cl

SR2: 3-3/3-3Cl

*SR3:5-2LBP(4B)3/5B2LBP (10 B) 3 CIRW

Ch: 6 + (last LBP) 2 RW See fig 4

SR4: MBBH 2 + (LBP 1st side last SR) 2 LBP (4 B)2/4 BB B MB 4 CI RW See fig 5
Ch: 2LBP(10B) 6 RW

SR5: 3+ (LBPlastSR)2 + B (SR3)5/3 + (LBPon Ch) 2B 5 Cl
SR6: 3+ B(SR2)3/3-3Cl

R7: MBBH2+B(R1)1B1-2Cl

SR8: 3-3/3+ B (SR6) 3 Cl

Repeat from * twice & from * to SR6 once

R25: 2+ B(R19)B1 + B (R1)2Cl

SR26:3 -3/3 + B (SR24) 3 CI _
SR27:5-21BP (4B)3/5B2LBP (10 B) 3 CIRW Fig. 4

Ch: 6 + (last LBP) 2 RW

SR28:MBBH 2 + (LBP 1st side last SR) 2 LBP (4 B)2/4BBB MB 4 Cl
Ch: 2LBP(10B) 6 RW

SR29:3 + (LBP last SR) 2 + B (SR27) 5/ 3 + (LBPon Ch) 2B 5 Cl
SR30:3 + B (SR26) 3/ 3 + B (SR2) 3CIT &C base R1 See fig 6

Please email me for further help or if you find any mistakes.
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